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Asse BD-Curva 1

Ce  E 2353442.959

Ce  N 4800393.980

D [mm]  E

2354513.194

D [mm]  N

4801304.670

Ve  E 2354515.993

Ve  N 4801307.052

R [m]

1376.000

Sv [m]

562.576

Ang [g]

26.0281

Tan [m]

285.273

V [km/h]

100.00

D [mm]

50

Asse BD-Curva 2

Ce  E 2355165.888

Ce  N 4801140.772

D [mm]  E

2354917.675

D [mm]  N

4800621.732

Ve  E 2354899.931

Ve  N 4800584.626

R [m]

495.000

Sv [m]

529.461

Ang [g]

68.0939

Tan [m]

293.235

V [km/h]

100.00

D [mm]

150

Asse BD-Curva 3

Ce  E 2355921.299

Ce  N 4801295.331

D [mm]  E

2356131.281

D [mm]  N

4800832.014

Ve  E 2356135.601

Ve  N 4800822.482

R [m]

504.000

Sv [m]

136.841

Ang [g]

17.2849

Tan [m]

68.844

V [km/h]

100.00

D [mm]

150

Asse BD-Curva 4

Ce  E 2356769.957

Ce  N 4800681.974

D [mm]  E

2356577.727

D [mm]  N

4801156.393

Ve  E 2356574.692

Ve  N 4801163.883

R [m]

500.000

Sv [m]

215.910

Ang [g]

27.4906

Tan [m]

109.665

V [km/h]

85.00

D [mm]

110

Asse BD-Curva 5

Ce  E 2357053.504

Ce  N 4801569.076

D [mm]  E

2357216.315

D [mm]  N

4801246.493

Ve  E 2357222.224

Ve  N 4801234.785

R [m]

350.000

Sv [m]

175.844

Ang [g]

31.9845

Tan [m]

89.819

V [km/h]

85.00

D [mm]

160

Asse BD-Clot. 1

CL 33.330

Asse BD-Clot. 2

CL 33.330

Asse BD-Clot. 3

CL 100.410

Asse BD-Clot. 4

CL 100.410

Asse BD-Clot. 5

CL 100.400

Asse BD-Clot. 6

CL 100.400

Asse BD-Clot. 7

CL 60.000

Asse BD-Clot. 8

CL 60.000

Asse BD-Clot. 9

CL 75.000

Asse BD-Clot. 10

CL 75.000

TRACCIAMENTO BD
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